

Department of Agricultural and Consumer Economics, University of Illinois Urbana-Champaign

# Weekly Farm Economics: Historical Prevent Planting Payments: Implications for 2019

# **Gary Schnitkey**

Department of Agricultural and Consumer Economics University of Illinois

July 9, 2019

farmdoc daily (9): 126

Recommended citation format: Schnitkey, G. "Historical Prevent Planting Payments: Implications for 2019." *farmdoc daily* (9): 126, Department of Agricultural and Consumer Economics, University of Illinois at Urbana-Champaign, July 9, 2019.

Permalink: https://farmdocdaily.illinois.edu/2019/07/historical-prevent-planting-payments-implications-for-2019.html

Historical data is used in this article to arrive at estimates of prevent planting payments in 2019. Based on historical information, per acre payment rates of \$308 per acre for corn and \$138 per acre for soybeans seen reasonable. Then, 8 million of prevent plant acres of corn would yield \$2,464 million on corn payments. Soybean payments would be \$414 million if prevent planting acres for soybean is 3 million acres. Given other prevent plant payments, a total of \$3,578 million of prevent planting payment seem possible for 2019. This payment would exceed the \$2,194 million previous high set in 2011. These estimates are preliminary and will come into clearer focus as more information on prevent plant acres become available.

### **Historical Prevent Planting Payments**

From 2000 to 2018, prevent planting payments for all crops averaged \$680 million per year, with an average of 4,074,000 acres of prevent planting. The average payment was \$167 per acre (see Table 1). As would be expected, prevent planting payments range over that period, with a high of \$2,194 million in 2011 on 10,160,000 acres. The lowest number of payments occurred in 2000 when \$115 million of prevent planting was paid on 1,767,000 acres.

We request all readers, electronic media and others follow our citation guidelines when re-posting articles from farmdoc daily. Guidelines are available here. The farmdoc daily website falls under University of Illinois copyright and intellectual property rights. For a detailed statement, please see the University of Illinois Copyright Information and Policies here.

			Prevent	
	Prevent	Prevent	Planting	
	Planting	Planting	Payment	
Year	Payments	Acres	Per Acre	
2000	\$114,530,191	1,766,870	\$65	
2001	\$513,370,938	6,344,827	\$81	
2002	\$199,158,287	2,001,794	\$99	
2003	\$330,250,449	3,054,049	\$108	
2004	\$301,837,723	3,288,399	\$92	
2005	\$254,090,363	3,798,912	\$67	
2006	\$175,377,488	1,435,430	\$122	
2007	\$302,145,891	2,235,546	\$135	
2008	\$381,710,335	1,795,836	\$213	
2009	\$795,313,624	4,741,059	\$168	
2010	\$1,230,013,421	7,460,654	\$165	
2011	\$2,194,405,614	10,160,014	\$216	
2012	\$230,322,027	1,044,206	\$221	
2013	\$2,173,549,034	8,617,601	\$252	
2014	\$1,000,358,225	4,597,000	\$218	
2015	\$1,322,816,138	6,667,841	\$198	
2016	\$466,593,734	3,328,888	\$140	
2017	\$537,658,338	2,848,920	\$189	
2018	\$395,089,889	2,223,673	\$178	
Average	\$679,925,879	4,074,290	\$167	

# **Corn Payments**

Corn represents about 28% of the prevent planting acres in a typical year. Overall, wheat averages slightly higher than corn, representing 29% of prevent plant acres. The crop with the next most acres is soybeans with an average 18% of prevent plant acres. These three crops have averaged 75% of the prevent planting acre from 2000 to 2018.

From 2000 to 2018, corn averaged \$266 million in prevent planting payments (see Table 2). The highest was \$1,045 million in 2013 on 2,923,000 acres. The lowest total payment occurred in 2000 when prevent planting indemnities were \$26.0 million.

_	Corn			Soybeans		
			Prevent			Preven
	Prevent Planting	Prevent Planting	Planting Payment	Prevent Planting	Prevent Planting	Planting Payment
2000	\$26 067 504	299 567	\$87	\$15 253 060	257 797	\$50
2000	\$187,510,562	1.767.613	\$106	\$73.045.388	983,099	\$74
2002	\$84,034,979	672,240	\$125	\$17,917,539	249,810	\$7
2003	\$115.696.899	959.155	\$121	\$47.694.178	585.920	\$8
2004	\$77.701.477	586.606	\$132	\$48.208.372	545.429	\$8
2005	\$54,643,332	488,086	\$112	\$58,610,502	786,335	\$7
2006	\$72,197,458	424,870	\$170	\$21,493,461	225,888	\$9
2007	\$95,503,287	464,486	\$206	\$104,504,580	775,799	\$13
2008	\$221,610,472	868,489	\$255	\$103,246,963	520,006	\$19
2009	\$340,658,712	1,662,589	\$205	\$115,539,856	791,192	\$14
2010	\$539,013,736	1,819,663	\$296	\$250,157,853	1,371,212	\$18
2011	\$806,030,604	2,322,636	\$347	\$320,501,263	1,448,779	\$22
2012	\$42,381,191	142,278	\$298	\$17,238,885	95,610	\$18
2013	\$1,045,300,654	2,923,765	\$358	\$310,953,267	1,491,175	\$20
2014	\$373,682,906	1,445,711	\$258	\$127,859,069	728,617	\$17
2015	\$449,896,583	2,138,700	\$210	\$373,194,670	2,122,689	\$17
2016	\$162,224,236	855,797	\$190	\$39,622,781	335,085	\$11
2017	\$184,640,402	935,609	\$197	\$78,546,665	469,710	\$16
2018	\$165,747,237	946,065	\$175	\$65,145,709	387,313	\$16
Average	\$265,502,223	1,143,364	\$232	\$115,196,530	745,867	\$15

## Table 2. Prevent Planting Indemnity Payment and Acres for Corn and Soybeans, 2000 to 2018

For corn, per acre prevent planting payments exhibit variability. The highest per acre rate of \$358 per acre occurred in 2013. The lowest was \$87 per acre in 2000.

Historically, three factors explain 87% of the variability in per acre rates. In order of importance, these factors are:

- 1. Projected price. Higher projected prices result in higher guarantees. When prevent planting occurs, a higher prevent planting payment results from a higher guarantee. Projected prices were over \$5.00 per bushel in 2011 (\$6.01), 2012 (\$5.58), and 2014 (\$5.65). These three years also were associated with the three highest per acre payments (see Table 2).
- 2. Acres of prevent planting. Higher prevent planting acres brings more productive farmland into prevent planting, resulting in higher per acre payments. Historically, a 1,000,000 acres increase in prevent planting results in a \$19 higher prevent planting payment.
- 3. Change in prevent planting rate. Prior to 2017, the standard prevent planting payments factor for corn was .60. This was lowered to .55 in 2017. The lowering of this payment rate is associated with a \$5 reduction in payments per acre.

### **Soybean Payments**

Soybean payments averaged \$115 million from 2000 to 2018 (see Table 2). Again, there is variability, with a high of \$373 million in 2015, and a low of \$15 million in 2000.

The per acre payment from 2000 to 2018 averaged \$154 per acre. Similar to corn, there was variability in payment rates, ranging from a low of \$59 per acre in 2000 to a high of \$221 per acre in 2011. Two factors explain 95% of the variability in historical rates:

- 1. Projected prices. Higher projected prices result in higher guarantees, which then result in higher per acre payments.
- 2. Acres of prevent planting. As acres increase, per acre prevent planting payments also increase. A 1,000,000 acre increase results in a slight increase in per acre payments.

## 2019 payments

For estimating 2019 payments, corn is estimated to have a \$308 per acre rate. The \$308 estimate begins with the \$175 per acre rate for 2018. Because projected prices are roughly the same in 2018 and 2019 -- 3.94 in 2018 and \$4.00 in 2019 - no adjustments are made for changes in projected price. An additional 7 million additional acres than normal (1.1 million) acres assumed to be in prevent planting, resulting in an increase in rate of \$133 per acre (7 x \$19). This gives the \$308 rate.

A \$138 per acre rate will be used for soybeans. The \$138 rate results from an adjustment downward from the \$154 per acre level in 2018 because of a lower projected price. The projected price in 2019 is \$9.54 per bushel, down from the \$10.15 level in 2018.

Reasonable estimates of prevent planting acres at this point are difficult. Estimate of 8 million acres of prevent plant corn and 3 million acres of prevent plant soybeans are used. These results in \$2,464 million of prevent plant payments for corn and \$414 million for soybeans. Adding in \$700 million for prevent plant payments on other crops results in an estimate of \$3,578 million in prevent planting payments.

### Commentary

An estimate of \$3,578 million would be about \$2,700 million higher than the previous high of 2,100 million in 2011 and 2013. Obviously, higher or lower numbers of prevent planting acres will impact that estimate.

Per acre values used in this article may be low. Prevent planting this year will be occurring on many acres with higher productivity than the normal prevent plant acre. Those acres could result in higher per acre rates.